261 34

/\ui w Ledkace 34, [1/12/18
g)(dm re'/’Mnu( "M f‘c&ﬁ’-&"l\/\ ‘/'am-arrov\/) ”/'3

Too(aua'- f/é.( [Lﬁr\) , Neod: fl6§ /f.vwsL)
l?(x,t;,t) = <P& R cvedw Lt

VeXh L L) W quibr

Recsp

=~ - ¥ = ) )
= — 2
il F = UK F i £ Fre
Pa E
— D j
b= V-F = P+eyt Ry
.
MV { cnel F ) =0
13 L = A
L. D F=re ‘od Fl= @ -R
A -—
MvFE = Px+Q
- O =) ==
s The ;F T ds PAx +Cu.a ”owl!—’k AR
(4 < D
= Ptg —Qdx = [(dv F 4A
& F -n d 9 X Y4
c
PROBLEM 20: Let m\\'h()sv compounents have con-
FI { tinuous partial derivatives up to second order an with
continuous partial derivatives up to second order. WTicitof the follow-
o : , |

261-34 Page 1



s e — >4 A
Fl { tinuous partial derivatives up to second order nn with
continuous partial derivatives up to second order. Wiicitof the follow-

F, ing is true? LM W' S
f"\d ‘/ ) curl(grad(f)) = ?ﬂt"‘ 3 C'n,fWWJV“‘ Jo

(1 0
X('Z) grad(div(F)) =0

(3) div(curl(F)) =0 khwn ‘k’“‘“"" N 40'7/—;«'11
'\/(—1) curl(curl(F)) is a vector field. 714 o'p aveds 3 U v
X(S) curl(div(F)) is a function.

AV of E bt cvedtor Fidd
%[L'C Pu/ﬁmél’ﬂc io\/acnulS

qua\md"uﬁc (weves C Uuwvt o 3D $]0/[6€
T = (x(é)/ 7[6/, 2 ¢))
-~ X I {; ‘g'/"t'
ammED ‘0 = L"

i=¢" +{°

Pﬁrt\m}f}é% fh(‘&wg

= Z (u,v)
r(K)V) T (X {M)V)} 7(0"'/)’ )
| ‘A)\/ F"fﬁmvh(s

a<ué b (“;V) 41t l/’\fzyﬁf\’ v

¢ cvid recdangt (4,47 x(c.4]

wlt+v €9 2 (,v) V&yineg ovir Lisl
ra gy 3 c,m-kfa’ J o/lyﬂf\.

l

FX gxs ‘41‘V2 % \9')( = 2\/Z = Z(-V)Z:ZZ
I h = ul+vz / , HH

261-34 Page 2



Ex. X = u -v AT
b)’ ul-rvz g \9 A v Ce vy _
S snifac 1 ’l"'
4rar.~L<.’.l ¢y lindar
'_3 O uL+Vl
-y = —at vl
9% = O-l'l\/l
Flanes P plane  nud 3 vehrs

L e o)
Siiens g E e B



Y= w 70+lu+0v% = Y =1y _%%
(37\/-'0+Oo\+3v 3
gz Y- gn TV
3L
Fo= (0,0,4)
-
o= (,)0/ 7
- <o,y 3)
1
gX. /7&4»«@'“:76 Xl‘Hf*'l =4, €20
l)'\
:J‘{'XL' G
OVU- le% h fo'\/c “"0( 7 5 '6 ‘7
X =W\
Y'f‘&m/(lfﬁ( \a::\/
hords ‘t= w_hz,vl
o
y = u Gs (V) 0<h <y
('9(“‘(’"“ = u j (v) 0<veln
(/oorij
T = Y-
< Y= 1 caste) I (V) 0 <iné L
ﬁowlﬂ Y = 1 Jin) S (V) o<y </
coocds 2 = Lw(v)

261-34 Page 4



&‘ & b el Foaud e
y = 3 S (V)
¥ b
¢ A»«}A of rotihen - S fce <P rovebbm

X= ln acomand T -0V,
D 1= 1 93
/ TR : i
LD
X / 5

We lome & tome wth dyhiad polle, Jo gilvin by,

Ly By = Cat SEh
A x , l :
A (2, c..slv))2 r B (3nliav) ) 3L

2
Yg wt sty t A8 sty = 3n

azh o B=4 , C=1

EX X = bslw) 55 (W) X:iﬁ(’:z
| v : IM;W; i (ol:)uv<w \}fo rottd o 1-AxBb.
z = cod (v fnvs
t

vz 0 W=0 on X¢ 'O'avu,
fo  x= sm(l)
1= Cos(V)

261-34 Page 5

gw) 1= 1y






